12

T 30,000 and machinery at site costing I
2,00,000 was returned to stores. Plant and
machinery at site is to be depreciated at 5%.
Wages outstanding on 31-12-1997 was
3 5,000.

The following were ledger balance (Dr)
as per Tiral Balance as on 31-12-1997.

T k¢
Land and
Buildings 15,00,000 | Fuel & Power 1,25,000
Plant &
Machinery
at cost
(60% at site) | 25,00,000| Site expenses 5,000
Lorries and Postage &
other vehicles| 8,00,000| telegrams 4,000
Furniture 50,000 [ Office expenses 8,000
Office
equipments 10,000 | Rates and taxes | 15,000
Material
sent to site 14,00,000 | Cash at bank 1,33,000

Wages 2,50,000

Prepare the contract Account to ascertain the

profit from the contract and Balance Sheet.

Register Number :

Name of the Candidate :
6329

M.Com. ( Accounting & Finance )
DEGREE EXAMINATION, 2012

(FIRST YEAR)
( PAPER -1II)
530. COSTING METHODS
( Old Regulations )
May ] [ Time : 3 Hours

Maximum : 100 Marks

SECTION-A (5 x 8 = 40)

Answer any FIVE questions.

ALL questions carry equal marks.
1. What are the objectives of costing?
2. What is idle time? Explain its types.

3. Explain the difference methods of costing with

its applicability to modern industries.

Turn Over
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10
Service Production
Departments Departments
S, (Time| S, S,
Keeping [stores) (Mainten-
ance) P, P,
No.of
Employees| — 20 10 40 30
No.of
Stores
requisi-
tions — — 6 24 20
Machine
Hours — — — 2,400 | 1,600

12. From the following data, prepare a reconciliation

statement:

F
Profit as per cost accounts 1,45,500
Works overhead under-recovered 9,500
Administrative overheads
under-recovered 22,750

3

The Rama corporation produces four products
in a manufacturing process. The Corporation
produced 10,000 units of A, 20,000 units of
B, 15,000 units of C and 25,000 units of D.
The cost before split off point for the four
products was ¥ 1,40,000. Using the average

unit cost method, calculate
(a) the unit cost,

and (b) Show how the joint cost would be
apportioned among the products.

The following information regarding receipts and
issues of pigments has been obtained from the

stores record of a paint manufacturing factory:

October 1998

1. Opening stock of
pigments 25,000 kg

(There were no issues or
receipts during the last week of

September)

2. Issued on Requisition
No-1 13,000 kg

Turn Over
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8 5

Issue of material were as follows. You are required to prepare Bin card No-36
January, 4 200 units; for the item pigment for which the symbol

January, 10 400 units; allotted is X-40.

January, 15 100 units; 7. Calculate the normal and overtime wages
January, 19 100 units; payable to a workman from the following data.
January, 26 200 units; Days Hours worked
January, 30 250 units. Monday 8 hrs
Issues are to be priced on the principle of “First Tuesday 10hrs
in First Out; write out the Stores Ledger
. W . . 8 Wednesday 9 hrs
Account in respect of the materials for the
month of January. Thursday Il hrs
. Calculate the earnings of workers A, B and C Friday 9 hrs
under straight piece rate system and Merrick’s Saturday 4 hrs
multiple piece rate system from the following Total 51 hrs

particulars: ]
Normal working

Normal rate per hour 3 1-80 hours $ hours per day

Standard time it 1 minut
ancarc time pet un e Normal rate X 1 per hour

Out put per day is as follows:
Worker - A: 384 units
Worker - B: 450 units
Worker - C: 552 units

Working hours per day are 8. Turn Over
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